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INCIDENT DECISION TREE"

Work through the tree separately for each individual iInvoived

Start Here

Deliberate Harmm Test

InEpacity Test

Foresight Test

Substitution Test

Were the actions as Doses thiers anear to be Did thiz indiidoal depart Weould another individual
intended? evidence of ill health or from agreed protocok or safe coming from the same
o | substance abuse? i procedures? e professional aroup, e
. _{wg == posEessing comparable
5 qualifications and experience,
ol 7 Behave inthe same way in
| sirpilar cincumstances?
TES YES YES l [ =]
Were adwverse consequences Deoes the individual have a Were the protocols and safe Were there any
intended? knowen medical condition? VEE procedures available, defidencies in training, il
e weorkable, intelligible, comect [ experience of supervision?
and in routine use?
WES =) WES " § no
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Is there evidence that the Were there significant
individual took an YES mitigating circumstances? YEE
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Consult MC A% or relevant
regulatory body

Advise individual to consult
Trade Unicn Bepresentative

Consider:
= SLspension
# Referral to police and
disciplinanyregulatony body
= Docupational Health referral

Highlight any Systam
Faﬁures iclentified

Consult MC A4 or relevant
regulatory body

Advise individual to consult
Trade Unicn Representative

Consider:
= Occupational Health referral
#=Reasonable adjustment to
duties
=5ick leawe

Highlight any System
FatgFures identifiad

Advise individual to consult
Trade Union Bepresentative

Consider: .
s Corrective training
= Improved supervsion
= Dccupational Health referral
# Reasonable adjustment to
duties

Highlight any System
Faﬁtrres identified

Consult NCAS or relevant
requlatary body

Advize indnvidual to consult
Trade Unicn Bepresentative

Consider:

= Referral to disdplinary’
requlatary bod

= Reasonable adjustment to
duties

= Diccupational Health referral

= SLIspension
Highlight any Systam
Faﬂums identified

System Failure
Review systamn

* Based on lames Reson's Culpabiity Modal
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